Chapter 4

Section 4.5: Negative Exponents and Reciprocals
Name:

Roots and Powers

Date:
Recall the Product of Powers rule to simplify the following expressions.
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Take a (silent) minute. What do you think the negative exponents represent? —) 5
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When x is any non-zero number and n is a rational number,
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Example Evaluate the following expressions without a calculator. Leave your answers as
fractions.
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What if the exponent is not in integer? Take a minute (silently) to consider.
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Example Evaluate the following expressions, without using a calculator.
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Example Paleontologists use measurements from fossilized dinosaur tracks and the formula

v =0.155s"/3f"1s

to estimate the speed at which the dinosaur travelled. In the formula, v is the speed in metres
per second, s is the distance between successive footprints of the same foot, and fis the foot
length in metres. If s=1.5m and f= 0.3 m, find the estimate the speed of the dinosaur.
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